i ||
08 =& GEEHH

O-@ e

<fE#E/ —FI>



g

=

BH

AoH (EK - 2HF0)

“IHEH

fEEX

= DEEH

AEDFEHA

HEAEXOFA (18 - =)



0.

X BN 58D B0 + e K,

(1) B

¥BR Y WIRR s APt 7 X, rOd,
VLI kRN

kPPHO  ¥1EN N

S R A4 fov Lz

2RI EANZH

@1y E @ 422yt 3x -5y

(X o>
() (5x*-3x3 + 4) 2 (x+3x*-1) & 5tEts,
— X+ 2 59
3t X - | )—312+ S 4 7J415
—3xX°—= X"+ X 65
bx*— X + 4 63
bx*+ 22-2 . é z
- 3x+6
415 =" x 59+ 2.

-2+ 2 B -3x+ 6

- 3:(3+5.7(2+ b = (3x*+x—=1)(-x+2)-3x+6

(hom3zt )= (h3zt)x(HK)+ (RY))
(ND3XaRER) > (&) o ikiR)



(z) P¥& X
LhO% - SER:ED f\—+-§— At B A _ B _ A-B

1}

c c . C Cc C
N A C - AC
N _A___L = .L .P_~ - -AQ_
[PRER] B_"D B~ < = TBc
(B5)
A, ¢ _ AD B¢
B tD T BD TBD
- AD+BC
BD

® knBXEERE I L,

bc Ca b
W) Taopycaey ¥ h-oie-ar T TTarc-w

be —-ac + ab

+

(a-1b) (&-C) (b-¢) (a-b) (a-¢) (b-¢C)

bec (b-C) — oacC (a-¢) + ab (a-b)
(a-b)(a-¢) (b-c)

]

- b-)ar— (b c®)a + be(b-<)
(a-bXa-c)(b-c)

_ (b=c){a*— (b+c)a + betl
(a-b)(a-<c)(b-<c)

= |,



x - X—=1-X
xX-=1 H-=

(3) kedd) X

@ xX:1Y4:12=3:435 nyx,

X=3k . Y=4k . 2=5k (k¥0) Y&,
X . 4 .2 :
ol el k¥ &3,

QEJ —}:—%:%"%OO\‘C"E‘ xd+q2+ 2X

&%
Xt Yt 2t DABE A,

-— e —— i ——— —— ———— ——

B) 5 =4 = F =k

X=6k _Y=4k . 2=3k (ko)

LEAS T,
XY +Y2+ X _ bk 4k + 4k .3k + 3R-6R
X+ Ye 2T (bR )+ (4R)*+ (3k)*

- _24B*+ 12k*+ I18k®
36k* + 16 R* + qk®

_S4k* _ 5%
61 k? 61

"



1. —r&a%k:®

(1) —IRPIE

(a+b)?® = o3+ 3ab+ 3ab*+ b3
\
(a+b)( A +b)(O+b)

[ a [7} b|
[& ElQ
I bl & a |
(a+b)? = A"+ 7a%b+21a°b*+ 350%b* + 35ab* + 2(a*b°
+ Tab® + b’

(a+b)(at+b)(0+b)(at+b) (O+b) (O+b) (a+b)
0] ® ® ® ® ® )

O+ B)" = nCoO™+ NG A'D + nCaQ b v+ + nCna A"+ nCnb”

- C
a“‘* bt (otren)

(RRATU 1= &113) — /RIR

S

B) () (3x+2y) o REAS 1ITHITS X3Y*14ER E KK,
(2) (x*= 2) 0B IZH 113 X al1b%ke KnE.

¥R LR

o a.'"\an = am-r'n
o (am)'n - a‘m‘n

o (ab)™ = A”b"



Re) (1)

(2)

(3x+24)° 0 RN o — HRIB IF
sCr (3077 ()"
- SC\-‘ < 55—\- x xs-\-x 2\» X 13.\"

= 5Crx 35 x 2" x X5 "x yr

13,42':7“_2“; F=2
&, 215801 .
sC2x 3%*x 2* = |080,

(x*-%)° 0 RAAX o — ARIB 1
6Cb‘ X (zz)“"‘x (_%)'"
2650 5 yr (_%)..

x (-2)"x x°"

= $Cr x X
l2-2r

= 6Cr x X

= 6 Ce x (-2)" x ¥

1Z-3r= 6 &), F=2
F>U&E0T,

6Cax (-2)" = I5x4 = 60,



(2) 9918 ‘P8

® (a+b+C)®
+C) = [Jac+[Jasb+
O a*be + [] a®bc*+

\
(atbtc)(a
. +@b+c)(a+b+c)(a+b+c)(a
I a ° . +b+c)(atb+c)
: : > ® ®
(o}
YANBIE —
6!
— : ST A
btc)” o BRA — MRIRIF
n!
Siglr afb¥cr
™ (P+gtr=m)

(X+ 2
: Y+32 ?
) B BRALELI O XY P 1h¥k & &
by “U);o

B%) BE —A%IRIX

B!
e P apt ey’ e
pigirl X 2%x 3" x 2Pyt

p=2.4=3.r=3 07

155R1% —i—.—g,i—s.—xf 3°
B x = 560 x x 2N

= fZOqGO,,



2. %X

CAB XIZETERVU> SR B

AN '-'l‘_é_'gik‘., \(,L\éo PE*%I.\.\
B3XITXTLTPXVIL > H X
@) OX’tbx+C = 2x*-3x+4
@) X-4x+3=0

HIEE N T B3R,
| (X-1)(x-3)=0
A=2.b==3_.C=% THh3, NXE1L3
o Tl LLBL E
o BABMNE @ <tto

KB 1580 E

X=X+ 9% =4 = AX(x=1)(x-2)+ bx (x-1)+ cX+d «. @D
WXITSOTNIEERX Y B3RS RE a.b.c.d o1& & KHF.

(BR|) 1% e sy 35
(DnBin) = A (P-3x*+2x) + b(X=X)+cxX +d
= o0x®*+ (b=-30)x*+ (20-btc)x +d
QA X hEE I wE31nIx, Bn o 1h¥R YR

o= |
b-20=-9 = b=-6
26-b+C =9 2> =

o= -4

F.2.a=1l.b=-6.Cc=|, d=-4,



(R82) ERBEICAK

®Ilzx=081tA -4 =d

gl Olzx=| &8N -3=C+d C=|

w)| Oz X= 284N $-36+18-4=2b+t2-4 b
(k. 3o 1% e edy L7, Q= |

Bizznes,

@
N
"

X (X=X X=-2) =6 (X-1)+X-4

X3- 3%+ 2x - 6+ bX+ X -4
X3— 93+ 9x - ¢4
(EA2. 0=\.b=-6.C=). d==-4,

(2k+ )X+ (R-1)Y-2k-N=0 . X LR ka{&
IZXFLZERRDNELIYII. Z0LE, X . Y1t kK H¥o

) (2k+1)x+ (k-1)%-2k-1=0
=Y (2x+Y-Mk + X-4-7=0
AN ROIBE RN YRINT . {2x+Y-2:=0
X-Y-"N=0

Soox=3 .0 Yy=-4



3. EK o :EeH

A=B &EF3,

(k) (B2)

[Fs517 A= -~ =B .. (A2)= (B2)y

[A£K2] A= w =C _  B= w=0C. ! (A®)=(®BR),
(531 A-B =« =0 ! (&EZ)= (b2),

B) Ry E X AVEX)IEL> 2B sEBRt K,
(03 b)(X*+Y*) = (axX-bY) + (ay+bx)*

EEBR (K3k2)7.
(B) = O3+ b*xX*+ &*y*+ b'y®

(a2 )

]

QX = 20bxy + Y+ o*y*+ 2abxy + bx?
= X+ b+ QMY by
F,, (E)ZZ) = (E)ZZ)@

9°X EE&R

(al+b3)(X+ YY) = (ax-by)*+ (aY+bx)® ERT,

Dot b+ A+ bTY = @x-20bay £ By o'y’
t 2abxy + b*x*



(5N 531BE)
KMENEOLS O X3KA
@ L[AE3] T RES AR
Q® 1B 1: "=k, LR,

®2) R0 % X & EEER ¢ ¥
X+Y= o3, XP+Y>= |- 3xy

SE8R 200l (OXZEE 2)

Zrd=1 1z&v. Y= 1-X
F.7. xX3+yY® = X3+ (1-x)
= X+ |- 3x + 37— X
= 3X2-3x+ |
| =3xy = |- 3x (1-X)
= 3x*-3x+ | Jo (BD) = (BR),,
S8R 2012 (@LAE3]TRERSBRR )

(h) - (B32) = X+ Y3— (| - 3xy)
= 4+ Y+ (-1 = 3xXxYx (=1)

(XY= DY D =Xy = Yx (1) = 1)xx}
=0 (X+Y=1 x1)
LEN,Z. (Ap)= (BR)y



R o % = £ EEBR ¢ X,

&= a-2b _ ¢-2d
o= g DLE. 25 —

- e e —

2EER (QHBI (X7 =k, (&L )

G _ ¢ _ . ) ]
_b—"'a‘—k‘l.as<t\a_bk\c_o(k
¥,2. (Em) = _%_z%
_ b(k-2) _ k-2
b (k+1) kR, + |
(Bm) = L2
- dlk-2) _ k-2

bz, (i2) = (Bz)y,



4. 7% X o ikeR
B ewd,
(k2)  (Bin)
[A%1] A-B = =@ &0 §1. AZBag
[(5%:2] DRYEITEaYF 3. 2R o K E IR,
A>O.B>00nXE A*-B*=w =@ >0

JVAT> BT =) ASB

(53530 kol

@D LHE1] 0 &RE
o RE U AL > v b sEeRt F. (XPHEETRIRLTI)

() X+ Y z22(x+y—1)
(z) &%+ b*+ ¢c* zob+bctca

— e - —— — —— — — —— ———

3R (1) X+ Y 2 2(X+Y-1) 87T,
(ki) — (Bm) = X+ Y-2(x+yY-1)
= X+ Yo 2x-2y+2

I

X 22X+ + Y'-2y + |
= (x-1)"+ (=1 z0

LEDSZ, X*+ Y 2 2(x+Y=-1) g

—_—

(5313 X=Y=|nYEpI)



(2) a*+b*+c*z ab+bct+ca £F7,

(B:n) — (B2) = a*+b*+c*~ ab-bc-ca

)

'E (20°+2b* + 2¢*- 20b -2bc -2¢ca)

% (a*~2ab +b™+ b= 2bc +c*+ c*-2co+ o)

[

L {a=b)+ (b-c)*+ (c-a)* } 20

F>L . &Xeb*+C 2z 0b+becoy,
(%513 0=b=Canr%)

®12) [B3k2] O KT
Ry FEXANWKII>ZC EEEBRE L. (A>0. b>0)

2 2.
tEBR
Xrh 2 otb 454,
2 2 _ 2 2 b 2
(fn)'- (Bi)* = &b _ (G1F)
_ Q%+b _ &'t 20btbt
z I
- 2%+ b)) = (0’+20h 1t b*)
J
_ (2 -2abt+ b
2
= LQ‘_Z_Q?}- _ZO



o (JEE) 2 (o)

2

K>O0. b>0 EHS,

2 2
‘Q—EL>O\ O‘;b >0

> 7Y o’tb* = atb

(5212 A=bnrIK)

A>0 . B>OnrE,
AL§>B <=> A2¢Z) :

4



ChR3k 3) 4@/}/1_3)- FMEREYo BBAEABRTI,

A>0 . B>0DYXE,

A';-B ZJ—A_B— <_>

A+B = 2.[(aB

BADEEY  BERY
(B2 3 A=BorIii)

sFeR (Z0l) [ A3%11 7%

(£m)- (Bm) = ALB _ [2E

_ A+ B-2.Ja8
>

- A-{B)*
> z 0

ﬂ——‘-

~N
>
-+
(WY

v

JAB p, (B2 rA=Bors)

X8l (200 2)

1

(%m) - (Bs2) = (L448)"- ([AB)°

_ A*4 2AB + B
= n AB

_ A+ 2AB+ B* - 4AB
i

A*— 2AB + B?
L‘.

=_(~A—‘_—B£2
4_ =

roe. (AEB) z ()

O



A>0 . .B>0#%H5,
A+B

== >0. IAB >0
RO T, A’;B z A8, (%515A=Boyrs)

B a>0.b>0nLI, B FEK s TH,
@) (a+§)(btg)z4
2) (a+ $)(b+r &)z 9

s () (arp)(btL)z4 BT,
0>0.b>0 ka7 B -tBEFH 0 Bk
=&
{cw%g z.!axf; (%2 0=%.7%)ab=|ntX)

3
btx 22[bxd (#2ixb=%. v%vabslmzs)
7 (Gri)brs)2 2.2 x 2 [ #enob- 10va)
= 4
(o B&EER  (£n) = ab+ ax g +bx L + Sxk
=ab+ 45 +2

z 2 [abx 4= + 2 (180 @ %FH90 Bk V)
=4 (%2ab=45 . YEYVab=|0LE)

552, (A+L)(b+d) 24 &

6



2) (a+3)(b+%)2z9 &=,
E8RO®

OIII

(kin) = ab + ax%i—l*bxbwt ]‘;x%

=0\b+%+5

2 2 [abx 2 + 5 (4BAD- RTHa Bhizr))
-9 (28 ob=g% . >E)abs 20 1)

LErs 2, (ot 5)(brg) 29

EeR @

ABh0- FERFE o Bihz &)
O+ +z2]oaxt (22ka=1t >%)ab-]nrd)

bt x = 2 |ox<& (2213a-F . o8 ab:4anr¥)

Co(arg)(bid) 2 2 (& w2 [8

= 3 K(&ﬂ;)(bmb%

RBN0 - BEFH o Bk BES LI IR

PR g—“ﬁF %E&E 45 AN E!




5. &4 TER oAlH

(1) FBhD - MEFY o Bh
A>0. B>0 0 L%,
A+B ~ |
= 238 v =yavs 2 20
B FLY ABRELY

(B2 15A= B txhir)

X>0rd3,
() X++ o BB
Q) s 0 BRATE B R ME.

CBR) (1) X>0. Y50 EH5,

(2)

x
ABHDAREFH o Rtk &Y.
X+ z 2 [0F

LEAS 2. X=20YLS FliE4,

>4 |

X+ 4 X+ 5

£+ (%% 5x-200%)

X=20v3, RA1E T‘p,/



(2) A==+ 2L O TE K

&.b.C.X. Y. 2 IFREKRLII,

(@ b)) (+Y?) = (0 +bY)®
ZZrotb=X1Yonrs

(@ b)Y 2Y) 2 (XL tby+CR)
ZR213aib:C= XY 2ok

SEBR (1> nt)

(Q+b*)(X*+Y*) =2 (AX+by) B&T,
(ki) - (B2) = (a% b )(C+Y) - (0x+by)*
= QX+ BX @Y+ by - (X 2abay + bY)
= b*C-2abxy + a’yY?
= (bx-ay)" 20

25 bx-ay =0. §HEDE Arb= XYL,
F>2., (Q+ b*)(X*+Y*) = <azc+!>15()z

(A2 b*)(X*+Y*) 2 (AX+by)* A KDL Y X8 FALT,
(1) 3x+2y = |ors:, X+ Y0 RME B K nE,
2) X+ Y= 0LE 2x+ 3y 0 GRE & L,



B) (A% b)) (X+YY) 2 (QX+rbY)" O

(1)

(2)

Q7TA=3.b=2v33%,
(3% 22)(X*+Y?) = (3x+2y)°

F,2. 13(X+Y%) =z )°
(=> X 'z 43

B2y x:Y=3:1201LE

X=3kR. Y=2k (R%¥0) L LT 3x+2y-=|

24T N,

3x 3k + 2x 2k =| \‘\k=-[l5—

LEM>T, X= 3= Y=

Oz a=2.b=3233Y,
(24 37)(X+y*) 2 (2x + 3Y)®

(=Y (2x+3Y)* £ |3
(=5 | 2x+ 3y < 13
(=> -3 & 2x+3y £ 3

Ly A1Y= 21301,
X =2k . Y=3k (R¥0) XL,

X+ Yi= | IZAY A (2R)'+ (3k)% =
Bk*= | . k=1 4=
2413 30

X==5- Y=—3= oxI RAGBAB,

20



